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Which is not the importance of Biomechanics?

(A) Improvement of technique

(B) To understand the structure of
movement and effect of forces on
the movement

(@) To understand physiology of human
body

D) Improvement of sports equipments

The characteristics of any starting position is :

(A) Stable

(B) Comfortable

©) Provide room for full range of motion

D) All of the above

Match the following :

(@) Flexion (i) Increases in angle

(b) Extension (ii

(c) Abduction (i

(d) Adduction (iv) Decrease in angle

)

@ ® ©© @
[

) Away from midline of body
)

Towards the midline of body

A v i
B) i v i
© v i i
O i i | iv

Which of these types of friction is stronger
than the others given below?

(A) Rolling friction

(B) Sliding friction

©) Static friction

D) All are equally strong

The anatomical term ‘Lateral' means :

(A) Toward the back

(B) Toward the head

©) Away from the midline of the body
D) Toward the feet
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6. The role of an antagonist muscle is to :
(A) Cause a motion opposite to that of
the movement
(B) Prevent an underivable motion of
the movement
(9] Produce a movement
D) None of the above
7. Third class lever system favour :
(A) Speed and distance
(B) Balance
(9] Force application
D) None of the above
8. Strongest ligament of the hip joint is :
(A) Pubofemoral
(B) Iliofemoral
) Ischiofemoral
D) None of the above
9. Factors of Projectile Trajectory are :
(A) Angle of projection
(B) Projection speed
(9] Relative height of projection
D) All of the above
10. The height and time of the flight of projectile
depend only on:
(A) Initial vertical velocity
(B) Angle of release
(9] Power of thrust
D) Horizontal velocity
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1. The main factor in high sprint races is :
(A) Leg strength
(B) Heart shape
€ Leg length
D) Types of muscle fibres
12. After which angle does the extra stretch
start?
(A) 60
(B) 9
©) 180°
O) 8
13. The Anterior-Posterior Axis is also known as :
(A) Vertical Axis
(B) Sagittal Axis
() Frontal Axis
D) Horizontal Axis
14. Where are Protraction and Retraction found?
(A) Hip Joint
(B) Shoulder Joint
(@) Elbow Joint
D) Knee Joint
15. Which are included in Kinematics parameters?
1. Inertia 2. \Velocity
3. Distance 4. Acceleration
(A) 1,2,3
(B) 1,3,4
©) 1,2, 4
D) 23,4
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16. The opposite anatomical term from 'Inferior’
is
(A)  Distal
(B) Lateral
©) Superior
D) None of these
17. Field Hockey shows the study of :
(A) Effect of friction
(B) High speed
(@) Acceleration
D) None of these
18. A dynamometer is a measuring device for :
(A) Distance
(B) Strength
€ Velocity
D) None of these
19. What is known as the change in position of
an object?
(A) Displacement
(B) Speed
©) Velocity
D) None of these
20. Which of the following is a vector quantity?
(A) Area
(B) Length
©) Distance
D) Displacement
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21. In what form does a first-class lever provide
mechanical advantage?
1. Speed 2. Power
3. Balance 4. Coordination
(A) 1,2,3 (B) 1,3,4
©) 1,2,4 O) 2,34
22. What does Kinetics study?
1. Velocity 2. Acceleration
3. Impulse 4. Force
(A) 1,2 B 2,3
€ 24 O 3,4
23. Newton's third law of motion mainly uses
which of the following to describe?
(A) Running and Jumping
(B) Bowling and Catching
€ Kicking and Heating
D) Bowling and Batting
24. The value of Gravitational acceleration 'g'
as it goes over the earth is :
(A) Less
(B) More
() Same
D) None of these
25. The basic meaning of kinesiology is :
(A) Kinesiology is kinetics
(B) Kinesiology is the kinetics of living
beings
€ Kinesiology is the kinetics of man
D) Kinesiology is the dynamics of
human during participation in sports
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26.

27.

28.

29.

30.

By which of the following is the body  26.

represented as a front and back part?

A) Sagittal plane

(

(B) Frontal plane

©) Transverse plane

D) None of the above

Angular momentum occurs : 27.
(A From the centre of the circle

B

)
) From the circumference of the circle
€

By centripetal force

D) From radial line

The force arising from the touch of two  28.

surfaces is called :
(A Friction
B
(
(

)
) Attraction
)

O

Gravitational force

D) Centrifugal force

The type of balance is : 29.

(A) Static balance
(B) Dynamic balance
©) Neutral balance

D) All of the above

Centrifugal force and centripetal force are  30.

examples of which law of Newton?

(A Second Law

G

First Law

(e

)
)
) Third Law
) All of the above

D
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31. Energy is the capacity to :
(A) Exert force
(B) Displace an object
©) Do work
D) None of these
32. The mechanical work is the amount of :
(A) Force
(B) Distance
(C) Displacement
D) Energy
33. Impulse is the product of force and :
(A) Motion
(B) Mass
©) Power
D) Time
34. Balance is :
(A) Refer to the speed of movement
(B) Refer to static love of body
©) Refer to the dynamic position of
body
D) Refer to stability of body
35. Quantity that has a direction as well as a
magnitude is called :
(A) Vector
(B) Force
©) Momentum
(D) Alll of the above
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36. Which balance does the wrestling playeruse  36.
the most to play trick?
(A) Stable equilibrium
(B) Unstable equilibrium
©) Speed balance
D) None of these
37. Balance depends : 37.
(A) On broad base of object
(B) At the height of the object
(@) On lightness of object
D) On the base and lightness of the
object
38. An example of Linear motion is : 38.
(A) Curvilinear race
(B) Straight run
©) Run for the high jump
D) Long jump race
39. If the momentum of an object is more then:  39.
(A) It will cover more distance
(B) It will react less
€ It will cover short distance
D) It will go higher
40. Between which resistance does the second  40.
class lever reside?
(A) Fulcrum and force
(B) Forces and barriers
(@) Fulcrum and obstruction
D) None of the above
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41, Muscle work that occur when muscle
shortens under tension is :
(A) Concentric
(B) Eccentric
) Isometric
D) All of the above
42. When a body part moves in circle, it is
called :
(A) Linear Motion
(B) General Motion
) Angular Motion
D) Specific Motion
43. Joints are responsible for :
(A) Mobility
(B)  Stability
(9] Both (A) and (B)
D) None of the above
44. Anatomical pulleys are those that :
(A) Increases the magnitude
(B) Changes the direction
(€ Decreases the momentum
D) Decreases the magnitude
45, Tyres are treaded to :
(A) Look good
(B) Increase longevity
) Increase friction
D) Increase weight of tyres
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46. The rotation of a ball or other projectile  46.
around its central axis is known as :
(A) Projectile
(B) Elasticity
©) Spin
D) Fraction
47. At the time of release of discus : 47,
(A) Central force is more than centrifugal
force
(B) Centrifugal force is more than
centripetal force
©) Centripetal and centrifugal forces
become zero
D) None of the above
48.  Father of Dynamics is : 48.
(A) K.K. Sharma
(B) Aristotle
€ Archimedes
D) None of the above
49. What are activities of fundamental joints in ~ 49.
the human body ?
(A) Flexion
(B) Extension
(@) Rotation
D) All of the above
50. What gives movement to the human body? 50
(A) Muscles
(B) Joints
© None of these
(D) Blood
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51. At the time of release of discus :
(A) Centripetal force is more than
centrifugal force
(B) Centrifugal force is more than
centripetal force
©) Centripetal and centrifugal forces
become zero
D) None of the above
52. The path of an object project projected into
free air space is known as :
(A) Speed
(B) Abnormal curve
©) Velocity
D) Parabola
53. Lordosis is also called :
(A) Round back
(B) Hollow back
©) Lateral back
D) Back curve
4. Function of Long bones in the body is to :
(A) Give strength
(B) Give protection
©) Act as a lever
D) Provide surface area for muscle
attachment
55. Bending forward of the trunk is an example
of movement in the :
(A) Frontal plane
(B) Transverse plane
©) Sagittal plane
D) Longitudinal axis
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96. Muscles, which cause the joints to bend are
called :
(A) Flexors
(B) Extensors
©) Abductors
D) Adductors
o7. In women a low center of gravity makes them
move :
(A) Very unstable
(B) Fast
© Slow
D) Very stable
58. Which is an example of a Projectile?
(A) Long jump running
(B) Stopping a ball pushed on the
ground
©) Ball thrown in the air
D) Attack in kabaddi
99. Why does the runner bend to the left at the
turn while running in the track?
(A) Due to Centripetal force
(B) Due to Gravity
©) Due to Balance and Force
D) Due to Centrifugal force
60. Where is gliding joint found in human body?
(A) Neck
(B) Elbow
©) Wrist
(O)  Hip
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61. Angular velocity is defined as :
(A) Change in angular position in a
given direction over a given time
(B) Angular displacement divided by
time twice
©) Both (A) and (B)
D) Neither (A) nor (B)
62. Biomechanics helps in :
(A) Treating injuries of sportsperson
(B) Improving performance of athletes
©) Increasing friction between the
athlete and ground surface
D) All of the above
63. Opening of hand sidewise in such a way
that your hands moves away from the midline
of the body is generally known as :
(A) Flexion
(B) Extension
©) Abduction
D) Adduction
64. Newton's second law of motion is also
known as :
(A) Law of inertia
(B) Law of acceleration
(@) Law of action-reaction
D) Law of velocity
65. The laws of motion were formulated by :
(A) Alexander
(B) Harvard
(@) Newton
D) None of the above
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66. Flexion and Extension are : 66.

(A)

(B) Movement in the sagittal plane
about the frontal axis
©) Movement in the horizontal plane
about the vertical axis
D) None of the above
67. Examples of vector quantities include : 67.
(A) Force, mass, weight, pressure
(B) Weight. torque, pressure, inertia
(@) Work, power, friction, impact
D) Friction, pressure, torque, impulse
68. On 'set' command the sprinter is in : 68.
(A) Stable equilibrium
(B) Unstable equilibrium
©) Neutral equilibrium
D) None of the above

69. The terms 'anterior and posterior' are  69.

Movements in the frontal plane

about the said sagittal axis

synonymous with :

(A) Frontal and back
(B) Verbal and dorsal
©) Lateral and medial
D) None of the above
70. Speed is indicated in : 70.
(A) km/sec?
(B) cm/hour
(@) Newton
D) km/hour
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1. The branch of Mechanics that describes the
cause of Force is :
(A)  Kinetics
(B) Kinematics
©) Biomechanics
D) Fluid mechanics
72. Mechanics is the branch of Physics that
deals with bodies :
(A) At rest
(B) In motion
©) Both (A) and (B)
D) None of the above
73. Duration is a measure of :
(A) Distance
(B) Displacement
(@) Force
D) Time
74. Study of Joints is called :
(A) Kinesiology
(B)  Biology
©) Anthropometry
D) Arthrology
75. Imaginary line passing laterally from one
side to other is called :
(A) Sagittal axis
(B) Sagittal plane
©) Vertical axis
D) Lateral axis
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76.  Boxers muscles are : 76.  SieEX HiGURAT ¥

(A)  Trapezius A)  SaieEE
(B)  Sternocliedomastoid (B) WASHERES
(C)  Abdominal C)  U=iHTA
D) Serratus Anterior D) GRred dafiER
7. Which type of Lever is most effective in  77. O it & -1 R Je e ST
sports movements? ST 87
(A)  Third class A o () "
(B) Second class (B) ESRRESIES]
€ First class ©) TH (1) T
(D)  None of the above D) SWEd ¥ § HE el

78. Which one of the following is not considered  78. f=1 § @ Pi-an i B e S R

ion?
as the law of Motion? A Sed &

A Law of Inertia

EB; Law of Reaction ® ST 1 e

€ Law of Gravity ) At = Fr

(D)  Law of Acceleration (D) X H +1EH
79.  What is Kinesiology? 79. FEEIROT @ 87

(A) The study of human movement (A) HEE TAia 1 ST

(B) The study of the human brain (B) Mg S H STHAA

€ The study of body systems ©) R A HT ST

D) The study of human diseases D) Mg HRAT H T
80. What does Kinesiology compare the human  80. Wﬂﬁ, M X @ e SNl

body to ? T &7

(A) A machine A) T AN

(B)  Ananimal (B)  TH UFHA

© A computer ©) TP I

D) A smartphone D) T& TICHH
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81. The forces acting on a Runner throughout
the race are :
(A) Weight
(B) Friction
() Air resistance
D) All of the above
82. Rest and motion are studied under :
(A) Biochemistry
(B) Anatomy
€ Biomechanics
D) None of the above
83. In which type of lever the weight is in
between force and axis ?
(A)  Type
(B)  Type-ll
€ Type-lll
D) All of the above
84. 'Latissimus dorsi' is situated in :
(A) Lower Leg
(B)  Thigh
(9] Back
D) Upper arm
85. Which of the following planes of the body
divides it into upper and lower parts?
(A) Sagittal plane
B) Transverse plane
(9] Frontal plane
(D) Vertical plane
1107-C/360
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AT P A 9k W HE F i I
ES

(A) @
(B) =7
€  ag g
D) ST Tt

fam ) Ty & oreEEN fhee oMN
fepar ST 7

A SEaEEE

(B)  UARM

C)  SEHBNE

D) ST d | B el

fpe TR & Tie] § 90 IR 919 & S
a9 B &7

A <&

B) TRy

C) eI

D)  SUUE |

el SRer B 8§ R ekl 87
@) e R

(B) ™

C U

D) U s

TR I i ael § & PH-a1 94
AR e fewdt § it e &7

A)  afted <

(B) T

(C)  hed wH

D)  afcewd @

[P.T.0.]



86. In which joint the bone can be rotated to
360 degree?
(A) Ball and socket joint
(B) Hinge joint
€ Pivot joint
D) Gliding joint
87. In Biomechanics terms, what effect does
gravity have on us?
(A)  Stability
(B) Weight
©) The balance
D) Volume
88. Plantar flexion activity only occurs :
(A) In Hip
(B) In Knee
(C) In the Wrist
D) In the Ankle
89. This type of energy is used while playing
football :
(A) Kinetic Energy
(B) Electrical Energy
©) Thermal Energy
D) Muscle Energy
90. The force experienced by the moving ball,
when it moves in the air, is called :
(A) Tensile force
(B) Magnus force
©) Compressive force
D) Contraction force
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for wemEe | SR T 360 fEHT | gHRN
ST T 57

(A) ¥ de Hike wEe

B) {5 wEe

€  fode e

D)  ERET =R

TR & SR o [eEENT @l
TR ST T STEY BN =7

(A) i

B) WX

€ g

(D) ST

WY TR A dad e ©
@ fRud

B g A

€ s H

D) @

A) TS ot

B) g T

C TS Fe

D) U S

T aTl S SR ST T T S,
W9 98 Bl § el B, S Fed § ¢
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91. The Vertical axis passes :
(A) Perpendicular to the ground
(B) Horizontal to the ground
©) Both (A) and (B)
D) None of the above
92. Which of the following planes of the body
divides it into upper and lower parts?
(A) Saggital
(B) Transverse
©) Frontal
D) Vertical
93. Biomechanics is most appropriately defined
as the study of :
(A) Human movement
(B) Biological organisms
€ Movement mechanics
D) Athletic performance
94. Synovial joints are :
(A) Slightly movable
(B) Freely movable
(C)  Both (A) and (B)
D) None of the above
95. Shortest bone in the human body is :
(A) Phalanges
(B) Metatarsal
©) Stapes
D) Tarsal
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afcha o IO © ¢

(A) TS § GRS (FHRI)
B) ISTE ¥ AT

(C) I (A) T (B)

D) ST F | B el

BT T I BT SHUL FAT A AT
¥ giear &7

A ored

B) e

C)  Wed

0) A ()

St H qEE IUPH &9 H..... B
HeEE B w9 § Ry e @ R
(A)  HFE T

(B) SRR STFIH

C) i Fitwen

D)  Tudiied TaeH

Rrifoae sie §

(€) 3 (A) 3R (B)
D) SR ¥ q Hig &

uMa SR & de9 B 8gEl Bkl §
A EEEE
(B)  HeER™
C) wH
D) =&
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96. At this point the entire body mass or weight
can be concentrated, it is called :
(A) Centre of Mass
(B) Centre of Gravity
©) Twitch
D) Lever
97. What is the example of lifting the body on
the toes ?
(A) First Class Lever
(B) Second Class Lever
(C) Third Class Lever
D) None of these
98. The muscles which are relaxed in Physical
activity are :
(A) Agonist
(B) Antagonist
(@) The operator
(D) Formless
99. Which internal force is considered in body
mechanics?
(A) Air pressure
(B) Gravitational pull
©) Muscle force
D) Velocity
100.  Which of the following pairs is not a correct
match ?
(A) Flexion and Extension
(B) Agonist and Antagonist
©) Proximal and Remote
D) Muscle and Tissue
1107-C/360

96.

97.

98.

99.

100.

(22)

34 g W SRR & 99 Femm @
g Bfad B Gl 8, SH bed & ¢
(A)  EFUH B

B) Tod F=m
© U
D)  I«®

W H I W RR H IoFT e
TE B AR &7

A e o oA

B) fad oot &1 @

© g &l & «lle)
D

) T A PR
e fohar & S wieuieEr R e
g awE:
A) T
(B)  UIME
C)  IE®
O)  FRER
IR A F PF-AT1 TR S FF
S 87
(%) g e
B)  TEEENYT RieE
C)  wiEueE T
O) o
Frfafea & PF-ar e T N W@ R0

(A) TR T TR
(B) T T Ui
(C)  HHIvEy T T
(D)  wiEusTt q&1



Rough Work / 1% E D]

1107-C/360 (23)



Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

10.

11.

galeY
9

N1 @ @ © ©
=2 @ ® O
75w ® @ © ©

U U B 3k UM Bl o e I
el B, Il & AR ik T R S|

gl IR P SMloTHodRo I -Th
(OMR Answer Sheet) & & & o= ¥
ST-T= § OGN & oreEr o

Fe WX fear T SAY 9 TR erm

SMoTHodNo ITX-T%k (OMR Answer
Sheet) W % 1 ferew & 7d 3ad &3 ™
qefl e HEAFIYESs G forr S

e gt & Sukra et e e
H AT OMR Answer Sheet Iqae A
® 9 & TOe B ¥ MR B qemet

AT WY FT-GRIH A S Fhd S
frifeq mfeb & R

F3 A IF B, GE-JREH H, H-FE B
fer fou @l 9 W & e S AR

Q- ¥ SIT-ob, FICY, Jo Rl TG
B & ST O SGH ST BT a2

U & el UG SISl WuraRer § fwar an

A H U H AN WU & 9
BRI

A IR G WO S #%
g & & uegRas & @l U Wi BY
ge &1 AR yeghaw & g w0 @, @
wafdes ® st @ fwds @ gEd
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